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Math 1050, Exam #3, Spring 2014 Name

diagrams to help Organize the data (this is worth partia| ctedit). If you do your work on Scrap paper, yoy
should indicate that directly on the test Paper along with your final answer. Itis preferable, if You can,
to do work directly on the test,

1. Determine if the ordereq pairs are 3 solution to the system. (5 points)
{ v+ e AR VIR

2x +8y =12
No No NO

A o~ (-1t
ioi/!! ﬂinw&

B hr 4 (hyssy .27 -acde
VoA - 24250 2=-2

2. Solve the system of equations by substitution, Show all work to receive full credit, Be sure to
clearly state the solution if one exists. Label the System consistent or inconsistent; and
dependent or independent if applicable. (10 points)

X+4y=¢
{y:Zx—S

N = 2(2)-3

| -N=5b
X+ 4 (2¢-3) N h3ey

X -t Ei)k -12= b
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3. Solve the system of equations by elimination by addition. Show all work to receive full credit.
Be sure to cIearI;y state the solution if one exists. Label the system consistent or inconsistent;
and dependent or independent if applicable. (10 points)

| d—y=6 X2) “HA+2y= -2
| {4x+3y=2 x -’c?,\j.'.- 2
7 Sy=-w
= Y
2x = (- =6 )
2x +2=6
2r =4
’ =

(2,-2) %M

4. Solve the system of equations by any method. Show all work or sketch the graph to receive full
credit. Be sure to!clearly state the solution if one exists. Label the system consistent or
inconsistent; and dependent or independent if applicable. (10 points)

{4y=2x—8 — 7.—:-%_—;( -2

X—2y=—4

7 12y

\’.-:%;g—\-Z




McCall, Betsy

5. Solve the syster

inconsistent; an

6. The sum of two n
number, the diffe

n
credit. Be sure jt

Math 1050, Exam #3 Page 3 of 6

of equations by any method. Show all work or sketch the graph to receive full
o clearly state the solution if one exists. Label the system consistent or

d dependent or independent if applicable. (10 points)

6x + 3y =12
=—-2x+4

{

bx +3(<2¢+4) = |2
OR —bpt 2= 12—
12> 13

nfire#t 4 soludoy  y=-2¢vy
Connstent 3 dependont;

Umbers is 58. If twice the smaller number is subtra

cted from the larger
rence is -20. Find the two numbers, (10 points)

G

1= losg 2t
| Uy: snatlon dE
X+y =SR

‘X.. 27 =~20

2,)("?2\"—2 W

X ,__2,\’ = -—)/'O

—é&:&
3 3

r=32

X=32.
v=2

-

S8

2ty =
2 32

-
-

Y=2b
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7. Inatriangle, the measure of the first anéle is 10° less than three times the measure of the
second angle. If the measure of the third angle is 30°, find the measure of the two unknown

angles. (10 points) l‘g-fmgﬂ‘, 75)('—,0 - y = 12D ~ 10 =)0
2 240_,,‘_3&,: X = 4o
34’@%’ 30°

X+Yy+30 = |8
—2D :-__,33-

Xty =ISD
l 3%-10 =Y

4= 10
2 =

X 43r-10 = SO Kego
| X~10= |80
8. A baker wants to mix a 60% sugar solution with a 30% sugar solution to obtain 10 quarts of a

51% sugar solution. How much of the 30% sugar solution will the baker use? (10 points)

@L.,J%(oo%zu%o-v = F

Y= IR =3 d B
2%

%

]

X ~+.3(lo-x)=S.|
et D 3r=S
-3 73

Sm——

Bt =2)
S
k=¥

y=lo-3=3
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9. Onthe graph bu;elow, 8raph the system of linear inequalities and label each point of intersection.

Be sure to shadie the region satisfied by the system. (10 points)

y=-2 |
J’ S g'x - 1 I Y 4{‘:—; qq
Y=-3x+6 \
xz20 2. NN N
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Y= 56:&—)*5 (:Z‘ T TN
g wm 1T
%
|
10. For the system of inequalities graphed below, state the inequalities that produced the shaded
region. [Hint: Pickitwo points on each line to obtain the equation of the line, then determine
which inequality is|needed to obtain the correct shaded region.] (10 points)
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11. Solve the systerln of equations below by graphing. Graph both equations on the graph below
and clearly label the solution on the graph. (10 points)

{y=3x—5
x+y=11 9\ ,
g /
L= --‘\
P CYT Y
i /
47 z *~
\)
A0l -BRI-R[ ] 4 1 618 11
ALY
A
| &
Ho

‘ /

12. For each of the graphs below, determineiwhether the system graphed is consistent or inconsistent;
and dependent or independent, if applicable. State the solution if possible. (2 points each)
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